CHM151 Q3b 25Pts Fall2005 Name: ’L( < 4

Information: mole =6.02 x 1023, molar masses: {= 32.06, A1=27.0
Ba=137.3,C=12.01,H=1.01,N=14.01, Si=28.1, 0 =16.00, P =31.0, Xe = 131.3, F = 19.0, K = 39.1
SHOW ALL WORK FOR CREDIT.

1. (4 Pts) a. Calculate the formula weight of Ba(NO;),.
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2. (4 Pts) What is the mass in grams of 0.832 moles of Ba(NOs),? P
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3. (4 Pts) How many sulfur atoms are there in 15.0 grams of sulfur? [—
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4.(4 Pts) The first chemical compound containing a noble gas was prepared in 1962. What is the empirical formula for the
compound that is 67.2% xenon and 32.8% oxygen by mass?

/](L,.(_\\,_L /UO?_

oF

5. (5 Pts )How many moles of COy will be produced from the complete combustion of 20.0 grams of CgH;s ?

2CgH5 +250, > 16CO; + 18HR0
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6. (4 Pts) How many moles of HyO woulc{ be produced from 36 moles of Oy according to the following balanced equation?

2CgH g + 2509 2> 16CO, + 18H,0
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